ocometry CP: Chapter 4 Review Guide Biller K‘Q (/

1. We can classify triangles two ways: by _5_\“(\‘6_5# __and _ Q_w \eé___" o
Classifications by 5\6\6___
1. Al 3 sides congruent: -M%Q\. ‘&‘\e vl
i. Atlleast 2 sides congruent.  \SQe\eS

il Nocongruent sides:  Sca\ene
Classifications by &(\9\2,3 B

. Three congruent ang;!es:__Q_{,’t}_{gQL_\_ GG
v. One angle greater than 90:___Qbf,\',b‘ <
vi. One angle exactly 90:__ YX' QWA

vii. Al three angles less than 90: — A (. vie
2. Classify each triangle.
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3. Classity the triangle with A(5, 4) B(3, -1) and C(7, -1).
i Mo ox= (o 5 CguilateraiZ\ with AB = 2x-5 and BC = 3x-9. Find x and the side length.
o s, T '
1 N 0 ] _ ,
Ax = ry triangi _Explain how we know this.
! 6. FEvery triangie has ﬁD_ degrees. Exp how
} -,Q_,Hi-\ \\ T W cur the angles apaar a\r\d
%7;,?,; PR eI Thane VP Yley makeo Wae,
?]',Fil!(;;t_hﬂ 32\@2&’& cach angle in each figure. /
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¢ ic >s helow.
& Write a congruency statement for the triangles b
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G wWhat does CPCTC stand for? OQ

coccesponding  PASS
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10. /

LQRSE

GHIE RS-12, QR giJ,J(_‘)K 6 and HJ-2x 5. Draw &Inalttnh:mglf",, then solve for x.
\ 'J)(:D,
\Q \2- Q)L"S Q)‘( \'5 rY
. , S @ 1% =\
11./0\ JKL’-Y;,\D-F and m<J=236" m<(\Jt 4" and m<F=(3x+13)". Draw & labe! the trianglcs, and solve for x.
Pl 34+ 64Y +_7>)‘*\' ‘3"\80
4 \ / g SR N2 32=\0 [ \

Y L b F -1\ 3 X 99 5
12, Congruent triangfes are ] —

=0T

13. The 5 shorteuts to prove triangles = are SSS QAS ASA'
14. TWO ways we carnnot prove triangles congruent are Q‘HH, & ASS CQSS’Q'

Solve the {ollowing proots:

Prootf #1: [\).P,\ Proot #2: A 'Q\ _\}\
Gwen /\‘)I!hr AD=BC :7’ __ k\\\‘ Given: Cis midpoint of AE, ABIIDE X\ /‘/BB
Prove: {5 ABD/ACDB T N Prove: /\NACES /\ ECD /2\5
\ L7 Saxmenk Rensons \
X l)C,t D%\uz/f\ \5\
:5) A0 SC B \c}\pu i C.
HEDDLD 2yrefiadve. & ) RBl(DE 2)giuen
)LAOL2 B Aot TN 0C Lo\ ez E| ) ouii of mdpornt-
9 RS )Y LOLLE |4 averrate Tn’reﬂor C’Uf\j\'GS
HprpeS VA Epinge > Pivernan angles
RGR2,. T ONEReo RS
Given: QS bisects <RST, «R=<T jéf'\ Given: BD1s a perpendicular bisector of AC
Prves BR=SH T Qf ‘4’: \\QR Prove: <A = <C ,Bf\
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